Public Transportation is a Climate Solution

A typical trip on public transit emits

55% tewer greenhouse gas emissions
than driving or ridehailing alone.

Average GHG Emissions per Passenger Mile
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Did you know?

* Public transportation is alow-carbon solution for passengers,
and it has gotten better over time.

* Emissions per passenger mile in 2018 were 26% lower thanin 2005.

+ Transit kept pace with auto efficiency improvements over the last decade.

For more information see the report,
An Update on Public Transportation's Impacts on Greenhouse Gas Emissions




